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CHEMISTRY

TRHEROT  IPRSIY  eros
SREDTR R B, endE
BIoD  Jodnd B FINIYNVY,
SRR ?

i.  Fe,0,+3C0—> 2Fe +3CO,
ii. FeO+8i0,— FeSiO,

iii. Fey0;+3C—> 2Fe+3CO

iv. CaO+8Si0,—> CaSiO;
() ispii  (B) ii R

(©) iii DIiv (D) i=dRiv

B  INSPNSY, vz Bee@od
geoR, o0 TOIWEWNT Ded TR

22005 25 5% o:rmqma‘oq BRodTI?
(A) IH,0 (B) XeF, NH,
(C) H,0,NF, (D) SOj.H,S

B FINIPv, BOTRT 08, RO ?
(A) Cl, o» H,0 el O, ®n
VZAFROBE STOF, ol e .
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0.1 SeedIR), XeFg &) 1.8 g ed3
2R3 IS ROONS. IES erueiqlq') :

(A) XeO,

(B) XeOF,

(C) XeO,F,

(D) Xe+XeO,

BI D) oonE,S(aquaregia)Boodr esrbaf
godedg, FHo IS v
RS0 &oert BN

(A) +4 Doz +2

(B) +5 Q0T +2

(C) +6 Doz +4
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A) A (B) B,
SUBAFROBE 8B Cl, ol 0.
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CHEMISTRY

Among the following, the main
reactions occurring in blast furnace
during extraction of iron from
haematite are

i.  Fe,0,+3C0O—> 2Fe+3CO,
ii. FeO+8i0,—> FeSiO,

iii. Fe,0;+3C—> 2Fe+3CO
iv. CaO + 8i0, — CaSiO,

(A) iandii  (B) iiandiii

(C) iiiandiv (D) iandiv

Which of the following pair contains
2 lone pair of electrons on the central
atom ?

(A) I;,H,0 (B) XeF, NH,
(C) H,0,NF; (D) SO7,H,S

Which of the following statement is
correct 7

(A) CI, oxidises H,O to O, but F,
does not.

(B) F, oxidises H,0 to O, but Cl,
does not.

(C) (I, is a stronger oxidizing agent
than F,.

(D) Fluoride is a good oxidising
agent.

0.1 mole of XeF is treated with 1.8 g

of water. The product obtained is
(A) XeO, (B) XeOF,
(C) XeO,F, (D) Xe+XeO,

In the reaction of gold with aquaregia,
oxidation state of Nitrogen changes
from

(A) +4to+2

(B) +5to+2

(C) +6to+4

(D) +3to+l

The vitamin that helps in clotting of
blood is
(A) A

) C

®) B,
@) K

The polymer containing five methylene
groups in its repeating unit is

(A) Nylon6,6 (B) Dacron

(C) Nylon6 (D) Bakelite
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8. a%-1, 4-m0dReed, e et 1. 11.70 g 3=, NaCl aods3 mo,Beos)
oL : 34 g 8% AgNO, aths mo,meed,
TosTon w3Tmonos AgCl 3 308
(A) wem>-N .

[Ag o Toswew ood = 108, Na 3
(B) RS >
TORRED T = 23]

(©) Qcieed,en*
(A) 5.74¢ (B) 2.87¢g

(D) JRnes owo
© 1L17g (D) 68¢g

9. a3 0 ABRDEORO
YRTD RO | 12 A mw B oo o0 dend

ool BORODOR. ‘A’ FRoONDHR Ioomo3ss

A) Reerodo wder 3 Vs 1

(A) S ERgeracnr 3333 nm eNGY, ‘A’ ob 3 OR)

(B) negor o oege’  eedcdo Roer BpoOWN ‘B’ & 300033
vaehw (A) 1.0x10%m o

(C) 73_139@0330 ?;)Jﬁ@d@ﬁ‘ (B) 125x 10" m _ {A.{j_::.,gtr:ﬁls:.i&nPaper!

(D) Reeacdo deedder wowen (C) 25x10%m |
o 2l D) 1.0x107m

10. FINIInY T3 - LI 13. NS o2nY Hecw  LoIRREITE

(A) ﬁ@)mmdﬁ%&' @oqy,)ou o B, :
€ SRers (B) P<Si<C<N
(D) #redecs Omoorf \ (C) P<Si<N<C
; (D) Si<P<C<N
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8. Cis-1, 4-polyisoprene is called 11. The mass of AgC/ precipitated when a
(A) Buna-N solution containing 11.70 g of NaCl is
added to a solution containing 3.4 g of
(B) Buna-S AgNO, is
(C) Neoprene [Atomic mass of Ag = 108, Atomic
mass of Na = 23]
(D) Natuial inbbee (A) 574g (B) 287g
© 1.17g (D) 68¢g
9. Which cleansing agent  gets
precipitated in hard water ? 12. Two particles A and B are in motion. If
- ] : the wavelength associated with ‘A’ is
(A) - Sodium lauryl sulphate 33.33 nm, the wavelength associated
(B) Cetyl trimethyl ammonium with ‘B’ whose momentum is %’d of
bromide ‘A’ is
(C) Sodium stearate (A) 1.0x10%m.
B) 1.25x 1077
(D) Sodium  dodecyl  benzene ®) Rl
sulphonate ©) 25x10°m
D) 1.0x107m
10.  Anti-histamine among the following is 13 The it "icuinetion ‘extialny of he
(A) Bromopheneramine following elements are in the order :
' (A) C<N<Si<P
(B) Amoxycillin
(B) P<Si<C<N
e e e (©) P<Si<N<C
(D) Chloroxylenol (D) Si<P<C<N
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14.  AgCl 3 D033 53,08 sasbototayd 17. 298 K 39, & #NSInve, ctnadcd
(A) 0.1 MNaCl 3¢, De0IQ, 153,03 BAD VOIS BrodI ?
(A) CH;NH, (B) (CH;),NH
(B) 0.1 M BaCl,3Q, (C) (CHy),N (D) CH(NH,
(©) 332039, 18. =Oow8 HNO, a8 mooxws H,S0,
(D) 0.1 MAICI, 39, ned 1:1 Q03ndeodn, o0 o)
S3Faoen,  p-FHR Rl DR
m-Fidoceearisd  wadded I
15. A0 w3IBTY, JOFR, I8, RO T, =Reecd, Bedetndss. Bwd, 50
LTS QODTOTY,, oXRsS FA0EFT) (A) -NH, nooad m-Ruerdzos rore
T3P0, ? (B) -NH, o2 m &% p
Vv QTier BRI 1oed
(A) 7=K (C) —NH, 3 Jpieedestrony Worsen*
(©) logV=logK+log T et e b i
At 1 JRoNETTEaRPORD
(D) —(%L? m-#30, e’ Guotsn33. |
19. SR IO08 SRRVY, mﬁq_,omugmgg}mpape!
16. 3 S9N JoSIIrIR 303 Xt QEOOTON WO LS. :
FOUBY CIRYE ? (A) FRREIPOF woF
0 (B) mz&&ec{ﬂd wzz‘ OGP
| C 2o ed SNt
CH, - CH = CH - CH, - C - CH, O ey
o (D) xd%eq‘aq‘d wog
I 120, B NS oY TR, TN
—> CH;-CH=CH-CH,-C-OH 4o wc:fr;%@ » -
i AR TR A)Q,oassés:;
Rplene €
(B) ordeecder Jood ¢ -
(C) I, 3 NaOH o, . =
3 ST ©) oB-%
(D) Sn =3 NaOH 2,369 O B
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14. Solubility of AgC/ is least in 17. Which of the following is least soluble
(A) CH;NH,
(B) 0.1 M BaCl,
(B) (CH,),NH
o s fac e
) 9 3 (D) CH,NH,
15. Which of the following equations does 18. If Aniline is treated with 1 : 1 mixture
f . HNO :
NOT represent Charles’s law for a - -con - s .con 3 H 2504
. p-nitroaniline and m-nitroaniline are
given mass of gas at  constant formed nearly in equal amounts. This
pressure ? i due to
(A) m-directing property of -NH,
(A) ¥= K group
(B) m & p directing property of
B) logK=logV +log T —NH, group
(C) protonation of -NH, which
(©) logV=logK+logT causes deactivation of benzene
dinV) 1 ring
@ ~§T -T. (D) isomerization of some
p-nitroaniline into m-nitroaniline
16. Which is the most suitable reagent for 19. In nucleic acids, the nucleotides are
the following conversion ? Joined together by
0 (A) Phosphoester linkage
I (B) Phosphodisulphide linkage
CH; - CH =CH - CH, - C - CH, (C) Phosphodiester linkage
0] (D) Sulphodiester linkage
Il :
— CH;~CH=CH~CH,-C-OH 20. Which of the following is generally
(A) Tollen’s reagent water insoluble ?
(B) Benzoyl peroxide (A) Fibrous protein
(C) 1, and NaOH solution (B) Amylose
\ , (C) Vitamin-C
(D) Snand NaOH solution (D) Glycine
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21, & NS eith. D) ePnd pKa | 24. FPpoodeeos sy HVZ $odr

wﬂﬂm TROOR W30 : . “’m"% me em
o, pKa 2RR0YE. BT, BB v3Z
a QR i 16 o e -
Toldee (Sve]
b. p-Junepemer ii. 078 VL Y IR
T, WOTT SFNG.
c. BPwS iii. 10 ,
d aFesy iv. 7. (B) pmsinccion’ o803
a T R : TOWFOTRT SN

A) i  iv i i

® i i v i (- Api——Y .
©) - o SR T,WOTONS.

=y WA (D) BEnsdesmedrc’ ¢mics

22. 3 SIS CINTITBR) HBTO'I LD T, WOTT STRITONT.

TOETSR), TOEFTLO LFRWTORD ?

(A) Qed = [0 . o H,/Pd — BaSO, '

(B) NaHCOS i ’ % -~ QuestionPaper

C) Na.CO (l) mﬂoﬁag NaOH‘ R+S {*Drive.in

( S (i) @008 HC/ A

(D) Na&eem

R &2 S nisd aid,'id SSFamen z:!o%o‘
23. wordacdesr’s) evotld SREIZH. Toroh
A, Hom,c~ N~ CH:0H A

NCHO€0HC N\~ CHO P o3
HOH,C C CH,OH -~~~ CH,0H o Gl

A, B 5% C 5208rist> 82N (A) CeHs

(A) H,/Pd, PCC, NaBH, (B) CgH,CoCl

(B) NaBH,, PCC, H,/Pd (C) C4H,CH,0H

(C) NaBH,, alk. KMnO,, H,/Pd (D) C4H,COOH

(D) H,/Pd, alk. KMnO,, NaBH,
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21. Match the following acids with their

pKa values :
Acid pKa

a.  Phenol i. 16
b.  p-Nitrophenol ii. 0.78
c.  Ethanol i 10
d. Picric acid iv. 7.1

a e - d
(A) iii iv i ii

@®) i i iv i
oy Tap BRESET G g
D) iv i i i

24. Propanoic acid undergoes HVZ reaction
to give chloropropanoic acid. The product
obtained is

(A) stronger acid than propanoic acid
(B) weaker acid than propanoic acid
(C) as stronger as propanoic acid

(D) stronger than dichloropropanoic

acid

22. Which of the following can be used to

test the acidic nature of ethanol ?

(A) Blue litmus solution H,/Pd — BaSO,

(C) N32C03 (l) con. NaOH yR+S

(D) Na metal (“) Qs ‘,?E?e’stionpaper

{ > Drive.in
23 R and S form benzyl benzoate when
A, Hon,c~ N CHOH treated with each other. Hence P is
B _~~ CHO

P 6 OHC
HOH,C € 5 cH0H—"~~ CH:OH (A) CH,CHO

The reagents A, B and C respectively

e (B) C¢HsCOC!

(A) H,/Pd,PCC,NaBH,

(B) NaBH,, PCC, H,/Pd (C) C(H,CH,OH

(C) NaBH,, alk. KMnO,, H,/Pd

(D) H,/Pd, alk. KMnO,, NaBH, (D) CgHs;COOH
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26. 4f 833D, WIRFTVRY oo

TooHIOCHT  Rnvy et
o eroREd

(A) o3P
(B) oo, opmooiried
(C) o8, odonsh

(D) T, deenaied

Ce (Z = 58) it Towopmued 3T
Beodozn

(A) Ce** o0 T8 raso08NG.
(B) Ce3m3aLu Mo HRNS.

(C) Ce o ww3mFmo Bosd, +4 No3

- 13 QT A 0N,

(D) Ce =mInI N +3 DI +4
U Roas, YRS e

28. NaCl % K,Cr,0, n¢ Q03083

Tooot0g H,S0, wedrt w0 Snadeen,

MR $0) SO0 dePrRed3s. o

BINS BeFo0 SN ?

(A) 8 @030 NaOH Secdrt =90
T30, 3e0s3TY, VeI

(B) 8 wao» CrO,Cl, &) (I,
nes) eod3.

(€) 3 wacn CrO,Cl, o) =ng,
TodT.

(D) el oo Jaf valders
mBWRIE B LRI

FOMTN, o> BYD wITY
803033,

B NS Beodnvg, NI

R ?

(A) Ro3eor GRINVY, 4303 2
oogmee RS od LoD
OBEASIR F0eORIBT.

(B) 3,08 3 evamirs HossodOmss
SoeBnsh Mm 55 ,\dm
B AN,

(€) =ecd I, Mn** B
Co** rigd QU EITOTINTNGS.

(D) 3d Besdodd oo BN
WECMS  eUZRFED :50355719‘5%
2e0ROII.
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28. A mixture of NaC/ and K,Cr,0, is

26. The elements in which electrons are
heated with conc. H,80,, deep red

progressively filled in 4f orbital are
vapours and formed. Which of the

ook following statement is false ?

(A) Actinoids (A) The vapours give a yellow
solution with NaOH.

(B). . Lanthanoids (B) The vapours contain CrO,Cl,

(C) Transition elements and Cl,.

(C) The vapours contain CrO,Cl,

D) Halogens
D) g il

(D) The vapours when passed into

lead acetate in acetic acid gives a
27. Incorrect statement with reference to

yellow precipitate.
e (Z = 58) . EZstnonPaper
29. Which of the following statement is °*"
(A) Ce* is a reducing agent. wrong ?
: (A) In highest oxidation states, the
(B) Atomic size of Ce is more than transition -metals show . scidic
that of Lu. character.
. ‘ (B) Metals in highest oxidation states
(C) Ce in +3 oxidation state is more - | are more stable in oxides than in
fluorides. :

stable than in +4. (C) Mn3+ and C03+ are 0x1dizing

agents in aqueous solution.
(D) All elements of 3d series exhibit
states of +3 and +4. variable oxidation states. -

(D) Ce shows common oxidation
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30. B NSYNWY e 303 35. B(OH), + 2H,0 —> [B(OH),]” +
0050 O, 0w 8nd ? 1.0
;0.

(A) CN- (B) CO & 8,chHod, B(OH), 8 sooddr
(C) NH, (D) en
(A)  Tperdoeds um)

31.  SINSYned), IR oRs (B) 3R &),
RISRIT BRodd ? ©) o B
(A) SO, (B) BeCl, (D) @O0 &5,
(C) BF, (D) Co,

36. 1 30ed3=), PACL,- 4NH, wdecd
32. WPRVYDI  mwoPy

= o,3608 TN AgNO; =) Todwen,
G-205¥ R0al &N 2 Rocds), AgC! = derodd. o
A 619 (B 511 N
© 519 (D) 520 RoORNS,

(A) 1:1 22,000
33. AH> AU &nobs 8,00 =
(B) 1z Z‘GQ%Qamud . QuestionPaper

{ “Drive.in

(A) Ny +0yq —> 2NO,

(B) Ny +3Hyy—> 2NH,

(C) CaCOyy—> CaO, +COyy,
D) CHyy + 2095 —> COyy +

© 1:3 &)d%qamad
(D) 1:4 Dci:sqsmz:sé

2H,0,, 37. Totw o, s eedne 8o eQocdoatt (1IN
JB e SRR
34. 02 HeeofSR) Cr,07 ey Cr (&)  [Cr(H,0)g|(NOy);
COTMNA  GTBAFRD ST, TNS (B) [Cr(H,0)NO,](NO,),
2R Y Feeond Joss, -
(©  [Cr(H,0)J(NO),
(A) 1.2 (B) 12 Cr(H.O).NO.INO
© 6 D) 06 (D) [Cr(H,0)sNO,INO,
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Which among the following is the
strongest ligand ?

(A) CON-
(C) NH,

(B) CO
(D) en

Which of the following possess net
dipole moment ?

(A) SO,
(C) BF,

(B) BeCl,
®) Co,

The number of n-bonds and o-bonds
present in naphthalene are respectively

(A) 6,19 B) 5,11
(C) 5,19 (D) 5,20
The reaction in which AH > AU is

(A) Ny + Oy —> 2NO,
(B) Ny *+3Hy —> 2NH,
(C) CaCOy,—> CaOy, + Oy

(D) CHyg) + 20454 —> COy, +
2H,0,,

The number of moles of electron
required to reduce 0.2 mole of Cr‘,_()_,',2

to Cr*3

£ -3

37.

In the reaction B(OH), + 2H,0 —»
[B(OH),]” + H,0

B(OH), functions as

(A) Protonic acid

(B) Bronsted acid

(C) Lewis base

(D) Lewis acid

Addition of excess of AgNO; to an

aqueous solution of 1 mole of
PdCl, - 4NH,; gives 2 moles of AgCl.

The conductivity of this solution

corresponds to

(A) 1:1 electrolyte

,,.J»fi%t:/estionPaper
L Drive.in

(B) 1:2electrolyte
(C) 1:3electrolyte

(D) 1:4 electrolyte

The formula of penta aquanitrato
chromium (III) nitrate is,

(A) [Cr(H,0)J(NOy)
(B) [Cr(H,0);NO;](NO,),

(A) 1.2 B) 12 (©) [Cr(H,0)]J(NO,),
© 6 D) 06 (D) [Cr(H,0)sNO,INO,
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39. ©303 e C - €1 ossy

%Ot NaOH o8 ot stmawon, e

BOAPIES &3S ? (A)

Ci
(A) O/ ¢

B)
e
NO,
Cl
(B)
N
C
N

©

(D) CH,=CH-CI
I

,..rctj.,/ouest!onPaper
{ "Drive.in

NO;
©

/
0,
0;
iy ®) Y gAY
NO; NO; Cl o
(D) © Y ==Y
Cl
NO;,

0. For sabawos AN
waauaxw Fewo s edwc‘ aae;,ca‘mo -

(A) NNl ﬁ)@/\Cl

D) +C =3 N
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Which of the following halide
undergoes hydrolysis on warming with
water/aqueous NaOH 7

C
oy

4

NO,

C
N
Ci
©
N

d
NO, NO,
(D) '

!

0,

0,
Cl
NO,

39.

The compound having longest C — C/
bond is

cl
(A)

c
(B)

NO;

cl

©
(D) CH,=CH-CI 2

The alkyl halides required to prepare

/k/\ by Wurtz reaction are

(A) M NcCland NI

B) Y and AAY
cl

© Y and Y
Cl

D) +Cland S

Space For Rough Work
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41. on IRAR NO, &) BRNE SRE 45. 330 £ETERY AT, HV0KD WRBI
s - s (A) PeORA,Wpeieoss Budxd
(A) NaNO; (B) KNO,
(©) LiNO, (D) RbNO, (B) 3ONTH B8%* T,mReomd ad
' ©) moIRdT,BY avd
2. Fhe s o= WSS WP, >
BowoPAEod B FUNSINvE, cdRaIcd (D) BOD o ae8
R BQ?
(A) TR 5,0 TP, 46. odns Bewdox NG ?
(Y NI NV o A seoTine. (A) Ea =0 ¢59, sotnsdert 40008
(©€) =05 8eaQ, Fis 'S oxs k = ©50eR0DF* KT8 A.
BIORRY  Jeowon - D,
TBOBIFRWBI. (B) Ink ooy % b 3L,
(D) FdEn ens® BRoIZY Boyimon XovSeadodnA.
BOBORWBITD DR -
s:a)c:sum ; S oy %
1 8,038 e0TONTOR 3,03%8o08
B, a@oy  eddom  Domd ©roond PImedsy, e PHRT ol
BREOROTIT RIS,
(A) CH,=CH-CH=CH, (D) FenSpres evmydodn, Ea o
(B) CH,=CH-CI IPO,T) WBTRARIOE .
(C) CH,=CH-C=N
CH, = CH-CH, - NH
i oL A 47. 1 ®e. 2 M CH;COOH & 1 9e. 3M
4. QoY WIRIEOOT 2-2, 83 DFF O30 CH;OH a3 Jomon o
630, 200, 657 -2 B4 3N STER 00~ SOOI, T ScdRomd  wR,BOTIY
Reabaiet | B3, DeOVOT AT OEBTLtRITON
T 008 Ferid  eRordessn e
(A) H,|Ni y
8,003 sSertay
(B) H,|Pd-C
(©) 3063 NH, 3 Na (A) 0250=, (B) 0.50=),
(D) %008 HCI 39, Zn © 20=m, (D) 4o
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41. The metal nitrate that liberates NO, on

heating
(A) NaNO; (B) KNO,
(C) LiNO, (D) RbNO,

42. Which of the following is NOT true
regarding the usage of hydrogen as a
fuel ?

(A) High calorific value

(B) Combustion product is
ecofriendly.
(C) The combustible energy of

hydrogen can be directly
converted to electrical energy in
a fuel cell.

Hydrogen gas can be easily
liquefied and stored.

D)

43. Resonance effect is not observed in
(A) CH,=CH-CH=CH,
(B) CH,=CH-CI
(C) CH,=CH-C=N
(D) CH,=CH-CH,~-NH,

44. 2-butyne is reduced to trans-but-2-ene

45.

47.

D)

Eutrophication causes

(A) increase of nutrients in water
(B) reduction in dissolved oxygen
(C) reduction in water pollution
(D) decreases BOD

Which is a wrong statement ?
(A) Rate constant k = Arrhenius
constant A : if Ea=0

(B)
©

Inkvs % plot is a straight line.

e EWRT oives the fraction of
reactant that
activated at the given temp

molecules are

presence of catalyst will not alter
the value of Ea

N4 )
L+ QuestionPaper
L Drive.in

1 L of 2 M CH;COOH is mixed with
1 L of 3M C,H,OH to form an ester.

The rate of the reaction with respect to
the initial rate when each solution is
diluted with an equal volume of water

using will be
(A) H,|Ni (A) 0.25 times
(B) H,|Pd-C (B) 0.5times
(C) Nain lig. NH, (C) 2times
(D) Znin dil. HC/ (D) 4 times
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48. B TSIV, cIRIR  Reodecd SI. 1 kg Q039 mMpeer o)
SenSFra 2050 CUEBTHIRNG ? DORRRPAIS TT0Y 2,300 WTeY,
8D WIBE TR 0.002 oS, B
(A) Lmos Jgodbody NH; o8 30,3000 RROLI0TD -
g ' (A) 0004 (B) 0.111
(B) &a* wowo* Is,caxsd SO, I3 (©) 0.222 (D) 0.021
OIS
é % 52. oD Oe3of MgCl, mo,3000 Swews 16
50 (g ST, N R0 5 Aomiv o 1A D3Ry
PSR TR rorN DR, RS
D) Beos Iscdhadd NH; O3 SeBdoNE. MgCl, mTees =
K TOTSO3
(Mg o3> TOsRe0 028 = 24)
3
49, moranRd T essdon Aoy ot A M
(B) 05x103M
0330 1.5 x 1074 mol L. moransd
| (©) 5x102M
0,360 oTEedo mol L 3@ e, D) 1.0x102M
BB, 7R3, RS CRVRIS -
(A) 2.0x103 (B) 7.5x10°° 53. =@ fad&a‘gw'ﬁdaigt W =Oeadd CuSO,
3,363 DCS)GM LYTRITINS.
(©) 46x10°5 (D) 1.1x104 = N
30,3ea03 pH
: (A) Zmrosd
50. @0 TR cm:ga:frm ﬁoa.%cm +1
i (B) sasbotnRnss
(€) woeRrPIoYy,
(A) Smeder (B) ewodw
(D) - 83 mabzp;rg S0l aleve o))
© s@e (D) wnFger Brrioss epm sRsatRrigs.
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48. Which of the following is an example 51. Relative lowering of vapour pressure
of homogeneous catalysis ? of a dilute solution of glucose
: dissolved in 1 kg of water is 0.002. The
: (A) oxidation of NH; in Ostwald’s molality of the solution is
process (A) 0.004 (B) 0.111
(B) oxidation of SO, in lead chamber © 0222 . (D) 0.021
process
52. One litre solution of MgCl, is
(C) oxidation of SO, in contact
electrolyzed completely by passing a
PReR. - current of 1A for 16 min 5 sec. The
(D) manufacture of NH; by Haber’s original concentration of MgCl,
process solution was
(Atomic mass of Mg = 24)
3 3
49. Critical Micelle concentration for a (A) Sx10"M(B) - 05% 10~ M
soap solution is 1.5 x 104 mol L 1. (C) 5x102M([D) 1.0x102M
Micelle formation is possible only :,,,:ff:(;\u/estlon?aper
when the concentration of soap
L o 53. An aqueous solution of CuSO, is
solution inmol L™ is
: : subjected to electrolysis using inert
VA 2RI . Toxalr electrodes. The pH of the solution will
5 .
(C) 46x10° (D) 1.1x10* LY liacinane
(B) decrease
50. Oxidation state ofcopper is+1 in (C) remains unchanged
(A) Malachite (B) Azurite (D) increase or decrease depending
(C) Cuprite (D) Chalcopyrite on the strength of the current.
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54. TEos E:mwz - 15V s §8. 1 e NaCl 39, 105 mole SrCl =)
E° SV B : TR, §I° SHIFREY evoesnss
ManMnn . ’ Mn+7]Mn+4 o w e Og:ngoa% '
(A) 03V B) 17V (A) 6.022 x 10'8
(C) 0.1V D) 21V (B) 6.022 x 103
' (€) 6.022 x 10'3
12.044 x 1020
s5. goboteodd t, 3 oo, [Rly (D)
S0, x-088  FSRTR0sTmINTO el
wom> XOWdeadcdnNG. @ gobod | o WO UDBUSQE mHF, “A', Re03Q,
8, casSert 008G X3 - 80% O, 30,0080t 2.5 ¢
‘A’ odo, 100 g ReOIY, PAeBTLd
(A) molL™'s (B) Lmol's VOGO 0.3 °C SR 298 RIS, A
(C) molL's!'(D) s o Beewnd* B3,008050, mol L 3¢
(R0 K, = 1.86 K kg mol™) :
56. B TINSJYrivY, oIRPYR  LoIWFe (A) 62 (B) 155
3,3 BovNTS ? © 221 (D) 354
A) L B) N i A
A) L (B) NaCl 60. wTrd ‘A’ oD eageer’ ©=Y o
(C) AIN (D) sowonad 8R00eTR00IE, DOIRATITINGS o
: - DB ‘BT obg,, eruent oR)
WA’ § 3 B'RQ, DORRRIITNS.
57. 200 pm S, 603 o, 2.4 g & 5o P, 8 JobaDOS A DX B 7w
60,3 PITOT earaorie mag‘ : D30T Setdss dedcD 8,:DN |
: (A) T8 L) Fogs
(703,E = 10 g ecm™, N, = 6 x 103 > .
atoms/mol) (B) adormags o) adbrags
(A) 6x102 (B) 6x 103 ©) FWYs DI abrogs
© 6x1020 (D) 6x10° (D) aomgs N Fwgs
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54 Give : E . =15 V and 58. 1 mole of NaCl is doped with 105
Mn*"[Mn*2 mole of SrCl/,. The number of cationic
» o s : vacancies in the crystal lattice will be
E.MMMH,z 1.2V, then EMn*"IMn*“ is Yy
A) 6.022x 1018
(A) 03V  (B) L7V Shd g
3
(C) 6.022x 1013
§5. The plot of ty, v/s [R], for a reaction is (D) 12.044 x 1020
a straight-line parallel to x-axis. The
- .for- WL o i 59. A non-volatile solute, ‘A’ tetramerises
reaction 1s in water to the extent of 80%. 2.5 g of
‘A’ in 100 g of water, lowers the
-1 -] o1 ,
AF MLl s, o)Al freezing point by 0.3 °C. The molar
(€©) molL's (D) s! mass of A in mol L1 s
(K for water = 1.86 K kg mol™)
56. Which of the following is a network (A) 62 (B) 155
crystalline solid ? (€) 221 D) 354 .- Blostiomrseer
(A) Iz (B) NaCl i Drive.in
A () “loe 60. Solution ‘A’ contains acetone
dissolved in chloroform and solution
! ‘B’ contains acetone dissolved in
§7. The number of atoms in 2.4 g of body carbon disulphide. The type of
centred cubic crystal with edge length deviations from Raoult’s law shown by
200 pm is solutions A and B, respectively are
(density = 10 g cm™, N, = 6 x 10?3 (A) positive and positive
atoms/mol) (B) negative and negative
(A) 6x102 (B) 6x10% (C) positive and negative
(C) 6x10% - (D) 6x 10" (D) negative and positive
Space For Rough Work

_ Chemi
~~tauestionPaper
i ~{Drive.in

1stry




;‘w

Y

Downloaded from questionpaperdrive.in

Space For Rough Work

22

Chemistry

~y



7C hemistry

Downloaded from questionpaperdrive.in

Space For Rough Work

23




Downloaded from questionpaperdrive.in

COMMON ENTRANCE TEST-2019 |

DATE SUBJECT TIME QUESTION BOOKLET
VERSION
CODE SERIALNUMBER

30-04-2019 | CHEMISTRY | 02.30 PM TO 03.50 PM

Total Maximum Time for Maximum Total No. of Mention Your
Duration Answering Marks Questions CET Number
80 Minutes 70 Minutes 60 60
DOs:

1. Candidate must verify that the CET number and Name printed on the OMR Answer Sheet is tallying with the CET Number
and Name printed on the Admission Ticket. Discrepancy if any, report to invigilator.

2. This question booklet is issued to you by the invigilator after the 2* bell i.e., after 2.30 pm.
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3. During the subsequent 70 minutes :
e Read each question (item) carefully.
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e Completely darken / shade the relevant circle with a blue or black ink ballpoint pen lgnmst the question number
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5. Use the space provided on each page of the question booklet for Rough Work. Do not use the OMR answer sheet for the
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6. After the last bell is rung at 3.50 pm, stop marking on the OMR answer sheet and affix your left hand thumb

impression on the OMR answer sheet as per the instructions.

Hand over the OMR answer sheet to the room invigilator as it is.

After separating the top sheet (KEA Copy), the invigilator will return the bottom sheet replica (candidate’s copy) to you

to carry home for self-evaluation.

9. Preserve the replica of the OMR answer sheet for a minimum period of ONE year.
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